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For a woman is particular concerning herself, etc.

OVERVIEW

¥"2 maintain (in our 7Iwn) that a 717 of 7O is required for WX *W17°P (not
less). ¥ "1 explained the reason of w"a is that a woman is particular
concerning her 1PU17°? and will not accept less than a 71°7 to become nwTIPn.
"X challenged &7°1 "1 that according to this reasoning then the daughters of
°X1* "1 who are so particular that (generally) they do not accept less than three
73p of 11177 for Pw1TP, will they not become nwTpn if they accepted a 17 (a
71°7) from someone for PYITP?! Our MdOIN explains how 2N initially
understood X7°7 "1 and how X771 "1 clarified his position.

—IYUNPN NNRT MIRD NP 1T ALY I1TXAN NIOT 9397 NINYT NPYD NP
"X initially thought that 895 '3 rules nw7p» 798 even if ‘she stretched

out her hand and accepted’ v 7p for less than a 737. The reason is -
— 9351 DY 1aPNY NHNN HININ

Since a woman is usually particular to receive a 917 therefore she will not be
nwnpn for less than a 717 (even if 77> Twwd). The reason is -
— 759979 12 0999 924 XN J9D 2PWN XY N7 5239 XIPA 90 2091 DIVN

since the 102 writes o>, and by a woman it is not considered n®> unless

it is the amount she is usually particular about, which is a 77
— 999511 NAPIN Y PAPNY MY PN 2397 nmaa (3195) s9n DIVUM

And therefore X asked, that the daughters of >81° '3 who customarily

are particular to receive for their 217°p no less than three 2p of 3917 -
— NYAPY DT NLYD ITIAN 99972 IVTPN XY ) *5N

They also should not become mwTp» with a 2197 even if she stretched

out her hand and accepted it -
— *N93D 91 1PN 1795235 9D AWM’ XY 29990 SN

"It is (seemingly) apparent from s'ax question that he assumed that the reasoning of X1 "1 applies (even)
in a case of 17> Muws. This presents a difficulty, for in a case of 77> TLW? it is (seemingly) obvious that she is
not n79pPn and is willing to take whatever she is given. What is the question from °&1° 17 7°n127?!

? Just as according to 7"2 if a woman is 77 7uwd and accepts less than a 719 she will not be nwTPn,
similarly according to w"2 if she accepts less than a 71°7 it is not [1¥17°2] 702. It is not (merely) because she
is N9 but rather (since she is N79Pn) it is not considered 702.

* The n"a;7 M7 amends this to read 191 7°n12 ANy X9X Kp; while the 0w n1on reads it 7™19p.

*5x1 M7 P12 are representative of various classes of women who have high aspirations for their n02
TR

> The 11271 nix7 amend this to mnoT.
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[For] less than three 27 should not be considered n2> for them; however
»ax asks that this is not logical’ that if it is less than the amount which she is n7opn,

it is not considered no2!
— 1152 NP 90T NYTPHN NN NVITNDD ITPANT RININP NI N7 DLV »WN)

So X1 1 answered I was not referring to case where 1775 muws, for in such
a case she would be nwTip» even with a 7wmp for a 717D is considered
702 and if she accepts the w179, it shows that she is not n75pn -

— 5vHY n99WT 1)) N NIDIYA NUTIDT NIMND 9
What I meant was in a case where he was w7p» her at night, or that she

made a v to accept P2 7P on her behalf and she did not instruct him as to the

amount she agrees to -
- 91’5‘\’)3‘\)3‘1 HHN 321 INNY %27 XNNYO %N 19N

And in this situation is where w"2 and 77''2 argue in our 71w»%; where 7"a
maintain that she is nwTP1 even with a 70179 and "2 require a 71°7.

mooIn cites 82w ruling (according to 177 R2OKR W'2):
— Mshy YT NP NI 297 NPT Co0pn we

And >"w1 explains that if the daughters of *X1> '» made a ™% to accept
their PLYTP -
— 5939441 AP RDIT KON PYITP N1 RY

It will not be a valid w17 unless they were given three 13917 2p.

modoIn disagrees with >"wA:
— NNYT 297 HNNRY HNNX DI 912 139DINT 1199 PNYYY 159327 HNY )9 OXT DY

And it is difficult to accept this interpretation, for if it is so that *X2> 77 "n12
will not be mwpPn with less than *71°7 2p7N, then you have subjected your

%1t is not clear whether X730 17 1°X1 refers [only] to the case of *X1> 17 *n1a (which would explain why 2R
mentioned them), or it refers to the general idea that even by 77 70ws a 71°7 is required (which would raise
the question why *2X mentioned >X2> "7 17°n12 at all). See X"w7n and following footnote # 7.

" This seems to be MO understanding of >"w7°5; the main question of 2K is that X720 7 PX1. However
Mmoo later explains that the question of »»ak is based on P w? 7127 nNn1 (which explains why he
mentions X "7 7°n12). See previous footnote # 6. See “Thinking it over’.

8 In these (two) cases she is not aware how much she is receiving for her w17°p 703; according to w"1 it
must be a 71°7 in order to be valid 117°p, for less than that she is n7opn.

? X717 "1 was explaining that w2 of the 7awn is in a case of 7272 WP or M9 MW,

10 o7 "2,

511 does not mention the case of 7922 7w Tp. See 1"»x footnote # 173.

125"y maintains (according to w'"3) that just as by an ‘ordinary’ woman [that if 77> 7vws she will be nwTPn
nuo3, and nevertheless] if 725w W a 7107 is required (since 31 NP AWR), similarly by X 17 N3
since they are n79pn for more, they will not be nwTP» unless their 175w is given 177 *3pN.
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ruling to constant evaluation ("% 79927 nni), since we will consider
each individual woman according to her mind —

mooIN supports his view that we cannot say PNV W% 7127 NN
L4095 97 802 X23) DINAN NPIN D992 (1 41 CPVINT RNID D92 799 NI INNST

For the X713 asks this question in a similar manner in the first P92 of noon
1w and in 29027 NPT PAD -

— Pa25¢59x 92 92)
Concerning 292X 92; the same difficulty will arise here according to >"&".

moon offers his interpretation:
— 9213 AN 5297 1PN 1D NNYN NN 7299 9917 NN

And it seems that this is what "X is asking; ‘however, now according to
your reasoning it should turn out, that for instance the daughters of x> '3,

etc. should not become nw7pn for less than *31°7 2PN -
— 99391 NAPINN HMHNDA SWTPNN NDT %5133 991 NQO$ 99

And if you (x7°7 ') will say indeed this is so that the >X3> '77 "n12 will not

be nu7Pn with less than 591977 Xapan -
—1PYIUY 75927 M 12 ON
If this so then > "% 99927 NNI, meaning -
— 999917 RAPINND NN SWTPNN NI MIPYUY 1NV DIVN NI %397 NIMaY
That the X°1° "7 759013 since they are wealthy do not become nw7p» with

less than 591577 X2p9n -
— 9972 MHIVIPHN MINNI
And others who are not so wealthy will become nw7i»2 with a 257!
— NIINP XY N9 NOY YN

And X771 "1 answered, ‘I did not mean a case of 777> nuws’ -
— NV MV ITAN NYIPN NT9PN NIINT NNYTa nnvYT

" The x7m3 attempted to explain the reason of Jnw2w 7ayn (where a 7192 tells a mb in the presence of a third
party that he should repay the loan to the third party) is because the debtor is benefiting from the fact that
he has a new creditor instead of an old one and will be able to postpone payment. The &3 asked, but if the
third party is 2°w*9% 72 who will demand immediate payment, the m> will not be happy [and 7927 nn1
1w w5], and there should be no 1°17. The X3 there concludes that JnWHW a7 is a XAYY X723 XN,

'* The xm3 there initially explained why a 7Pt requires three years, because for the first two years the
owner does not mind. The X3 asked that if the owner is 2%’ 12 who minds immediately then a 7P in
their property should be immediately and 7 w*w% 7°727 nn1.

' The 2°w79x 72 *27 (as they are referred to [in those M »3]), were tough and exacting people who gave no
leeway.

"1t is logical to assume that any amount less than what she is n79pn is not considered 702.
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Where she let her mind be known that she is not particular and is
therefore nwTiP» for even a wID MW -

— YHY NMYT 933 N NOPYA NYTPT NIYIND 29
When does my reasoning apply; when he was w7p» her a night, or if she

made a oY -
— HYIPHN NN 9279 MNAIT HNY 1533 INT

Then all women are equal that they are not nw7ip» for less than a 2157 -
1DV INYY 1193 NIN NYHYY 1315 XYW MY 10T DOV INY Y5999 MINEY 139N IN)

For then even the °X1° "7 7°n12 are not excluded from the general woman
population, for the °X1> 77 7°n12 know that the suitor will not give to the
mow the >71°77 82PN, but rather he will give to their m>w what he would
give to other woman, which is a 227, and they accept that."”

SUMMARY

"X understood (according to both >"wa and nN1voIN) that (according to X7°7 ')
she is not NWTIPH (even if 77> VWD) since it is not considered ADI. 2R asked
(according to ") that this is illogical or (according to noon) that 7°727 N1
PYWY. X7 " answered that by 77> 70w she is (always) nw1ipn for even a
179 is considered no>. He was only discussing 12°%2 qw7p or m°ow oM.
The conclusion is that according to "W by m%w W the X1 "7 °n1a will
require 7177 X2pn while according to n©oIN a 7 is sufficient (for
otherwise PV W7 7°727 NNY).

THINKING IT OVER

mooIn difficulty with >"w7% is (seemingly) only with s""w7 conclusion that
R '97 N2 require M7 XN if OW 7w (for 2w 7727 nn1). Why
was it necessary for n1BoIN to change the question of »aX, that it is not
because X720 7 PR (as MOIN understood *"wAd), but rather because nni
PNYWH a7

' Otherwise they should have instructed their % not to take less than their desired amount. Therefore it is
considered as if 77> mowd [for a 71°7], where all agree that she is nwTIPn.
¥ See X"wn.
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